

Integrating the Planck Integral

Multiply by e^{-x} / e^{-x}

$$\int_0^{\infty} \frac{x^3}{e^x - 1} dx = \int_0^{\infty} \frac{x^3 e^{-x}}{1 - e^{-x}} dx = \int_0^{\infty} x^3 \sum_{n=1}^{\infty} e^{-nx} dx$$

Turn into the series

$$\frac{1}{1-x} = 1 + x + x^2 + x^3 + x^4 + \dots$$

Let's look at each term in the sum (we can do this because each term in the sum is a convergent integral)

Substitute $u = nx$

$$\int_0^{\infty} x^3 e^{-nx} dx = \frac{1}{n^4} \int_0^{\infty} u^3 e^{-u} du.$$

This integral is a Gamma Function:

$$\Gamma(z) = \int_0^{\infty} x^{z-1} e^{-x} dx. \quad \Gamma(n) = (n-1)! \\ \Gamma(4) = 3! = 6$$

$$\int_0^{\infty} \frac{x^3}{e^x - 1} dx = \sum_{n=1}^{\infty} \frac{6}{n^4}.$$

This sum is a Reimann Zeta Function:

$$\zeta(s) = \sum_{n=1}^{\infty} \frac{1}{n^s} \quad \zeta(4) = \pi^4/90$$

This result can be generalized to yield

$$\int_0^{\infty} \frac{x^{\alpha}}{e^x - 1} dx = \sum_{n=1}^{\infty} \frac{\Gamma(\alpha + 1)}{n^{\alpha}} = \Gamma(\alpha + 1)\zeta(\alpha + 1).$$